®#3F
< FfsN7-UT
l 28 (DFT) DE#
| E

0l00ooooOoo0oUooooooooo@moooo/00ooo/0oboooooomog
gooooopoOopoOoOoooooooooooo

0000000000000 oooooo"oooooooooooooDooon
o000000o0o0o0ooooooooooooooooooooooooooooooooooo
oo oooobobobobbobobobbooodddddoooooogo
gdddoooooooooooooon

200000000000 00000DLODLO000D0DDOD0M00DLODO0D00bLObOU000 ™ DFTHI
000000000 0ODFTO Discrete Fourier TransformO 0000000000000 OOOO
Oo0o0o0o0o0o0o0o0Doo0o0ooooDoooooDooooooolDr DODigitdlODO0o0000
goddddooooooo
gobooobbooobooobbooobbooob oo bb oo booooo
gooooooooooooobboooooboobb oo bbb ooow g
gooomoooboooa

= — —

3.1 IE*E'ESEEIEL.J:Ka?»f“@)M ﬂﬁﬁ(iﬁﬁiﬂ)

gooooooooooooobooboooobooooboooooOoOoDODODODODODDDOOOO
OO0 000000000000000000
0000000000000 0000000 @E®O000D0DDNONDONONONONNDonoo
ooooooboooo0oo0™® oocobOOoOOoOoboOoOoOoDFTODOOOOOOOOOOOOC0OO
0000000000000000000000 CEGEpOOO0D00000N0DON0D00ONODFT
ooboooooooooboocoooboooboOooo
cooooom /RoOA0fREI SOS0010000 3-10000000000000000

>

e

31 JO0000D0DO00DO0ooDO0DO0DOoDOoooooo 43


Administrator



1 1 1 noog {1D1D1} 3pUom
———————————————————— 3 3 3
T T T « T YT £ BP 070 M2¢" 200 (6@~ 20
o] 1 2 = ,
k R !
o 1 2 O 5 \5 /
/2 U100 {IJ/EDDE?/EDD @D} [u} ]
Lol PEN 2 2 /2P0 o
1N RN 2 0
N\ / \ il N e g \ l’
N1 2/ 3 1 2/ \ 2
\ / \
< / k 0 k
) \ J/ Kk o \& é’ B |:> o 1 ‘ ’
0 A 040 SENCE O Dl
2 . 2 pem | O anfy
3 NG o £0 30 4 cos (k - %
,
0
O / \\
e ‘/gm 99200 {ODéZEDDJ] ég% o/ 2 np B
0 / Y />6 1\ !
\ Il \\ 2 \\ /I
vol AN va k -
/o \\\ /I 03
Dggt‘p 032 0000000000000000000000000

031 00000000000N=30000

£ =A+Bcos(k2?ﬂ+c) 0 /=00 102 ([000000CO0BCO0ECOOO0CO00COO00000000000000000m 10

0000000000000 A0BOCOOOOO
==
03-100000000000000000000
¢ 8101010 0000000

20 2l
SGh

O

gobooooboobdeceostdi

m(ﬂk{w% —ﬁ[}

20

0000000000O0sin000cos00000000000N/Braddd 0000
0000000000000 ¢8 ¢'f ¢ 000000000000 F0F0F00000
oooooooo

= (£, 0 )= %@5@5@(—1})}: 30
[F<f,¢ > ESQ(E}sgfm {;3 VI

@=<f,<p(ﬁ%j>:3£5@6 +q Joo

20 20

uoboooboooobooooboooomrFOF/0FFROO0000000O0C00DOCOO0O0COOO
goooo

44 [03000000000000000ODFTOOOO



g200DFT...000000000D00O0O0

©)
(o1 1 1 1 1
______________________ 00 5000000000
t0oo 0000900005 1060 00x 2r x 1 Hzo0 0 By rad]
(0] 1 2 <:| :>
t 3 3 -
) ! Lo (0)<;> ?ElradDDEIDDDDEIDD
© W(H)D 2 cos (2n 1) /3 0@ <é> 3
3 -2
} s . 0oooooo
Y 1 2 7/
N3 5/ OO0cosO OO
10H00000000 v S/ 000
N
4 N ,
oW V2cos) | 777
oW <£>D V2 cos <471TF
o® <A>D /2 cos <21>G 3 2
3 3
9 ()0 ¥2 sin (2n 1) e B
/ T\ 2, £000
/ \ =
& A3 / tooo
IYO 1 ‘\ /I
& 3 N

w(z’(O)Dmésin(O) 4 034 00000000000000000

[ (2)<%> o @sin< 3 F
(] (2)<%> 0 EEsin<2?nF

@ P(¢)O mDOD%D%(D)DDDDDDDDDDD

[0) (ﬂ)(o)Dﬂﬂ)%)D@(ﬂ)%)D O

O O 0]
e TP 3 pooo

03-3 000000000000000000N=30000

r=Fo®+FeH+Ke®  00000DDD0OODDOO0ODD0O0000000000000000000000000000000000000M 20
=3x{l, 1, D+2x{y2, -2, _X2li 6 x{0, 2, -2
x{ P X{v > 5[ +VBx > >
={(3+2+0), (3-1+3), (3-1-3)}
=15, 5, -1}

0000000000000000000000000000000 3-20
0000000000000000 ¢8 ¢'8 ¢ o000 00n00nons3-100000000
000000 7T=/300000000000000000000000000000000 3-3

oP=fpP o ol ;P =1(k=0, 1, 2) OIODODDODODOODONOODODOODODOODODOODODOO0O0D 300

2
oB=loB ot 0B} ;cp‘ﬂ:ﬁcos{/ex(?”)} (k=0, 1, 2)  00OD0ODOODOODODOODO0OCOOM 40

Blo® 0B 0Bl .o® = /ogi 2n -
o=l o8l o} "Pﬁ—ﬁs'”{w(?)} (£=0.1 2)  ynEINOINONNONoONDO0O0m S0

ooooooooooooooooo a1 0A0RMOO02000 k=001020000

010 020

[i=Fo@ "+ F10 "+ F,0
go0o0oooooo30OsOoOooonon

31 J00D00D00D00D0O0D0O0D0OD0ODODOIOOoOOO 45



